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INSTRUCTIONSTOTHECANDIDATES

1. The admission to the examination is
. provisional. In the event of any information

furnished by the candidate found false/
incorrect/incomplete detected at any
stage, the candidature shall be rejected.

2. Darken the circles in the OMR sheet
completely with Blue /Black ball point
pen only. Partial darkening shall not be
evaluated.

3. Darkening two or more circles completely/
partially shall not be evaluated.

4. Changing the darkened circle in any
manner putting ‘x” mark/using white
fluid/erasing by rubber/blade etc. shall
not be evaluated.

5. This question booklet shall not be opened
until instructed. Write your Roll No.
correctly in this booklet as well as in the
OMR answer-sheet,

6. The candidate should check the No. of
Printed Pages and Questions along with
their Serial Nos. In case of any discrepancy
found exchange the defective one and
collect another correct one from the
invigilator within five minutes and
thereafter no complaint shall be
entertained.

7. The examination shall be conducted as per

;he é)disha Conduct of Examination Act,
988.
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Each qn‘&ﬂi’(;xirli:u four alternatives. Choose the correct one from among them and darken
the appropriate circle completely in the OMR Sheet with Blue / Black ball point pen.
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1. 65160 9@ 001866 Sgas! GqUaFa6a6ed | 1. Which of the following is not a method
085 Qg8 Qed ? of estimating reliability of a test 7
(A) 9 oosa aed (A) Test - retest method
(B) <ngey o oed (B) Alternate/parallel form method
\(C)_o€-caq aed @» (C)  Split - Half Method
(D) _9eiee ad aed (D) Testing condition method
fior 2o 9ILE 69, 6a <@ 398 odawa | 2. Mita wants to know whether she will
98n a9 gede «GaGe & aF 7 e, perform well in a particular job or not.
- Q698 AUIPT. wgoid 9ges 699 60F Which of the following tool will predict
AL ? P this ? et 0
(A) R00Qy 0988 . - . (A) Achievement test
i ~-(B). I6RIR AINPE. .. - | (B) Attitude test. .
i () L uiene 9a18e ! (C) Aptitude test . ..~
(D) <F aesl (D) Intelligence test

In which of the following rating scale, a
sequence of definite numbers is supplied
. to the rater or to the observer and the
"'observer * awatds an' " appropriate

L3, ., @R cod. 5610 QIO 966 FRRe @1/ .31
- 9d¥6eaesq caite 799 210 2Qen]
621910 TAIDINAIN 8 HIERBF 6915 SIS

| oAg geachad 7, '

number ?
(A)_AIGR AlOM/Aae (A) Standard scale
0./’/ @NATe SgQIal Feea (B) Rating by cumulative point
() - dicesea Aeiag nioe (C) Graphic scale
@ - Qrge Pdiee Ao 1) - (D). Numerical scale
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SeT -(A)

Which of the following is an objective of
evaluation ?

(A) Know about learning difficulties

(B) Measure the achievement of
learning

(C) Know that learning has actually
taken place

(D) All of the above

A progressive school curriculum planning
should be done in a way that :

(A) Boys and Girls have different
curricula

(B) Intelligent child should not be
allowed to mix with normal
children

(C) Children should be given a free
hand to choose subjects from a very
young age

(D) Itis a flexible and rich curriculum

including various co-curricular
activities

Which of the following statements is not
a feature of the process of learning ?

(A) Educational institutions are the only
place where learning takes place

(B) Learning is a comprehensive
process

(C) Learning is goal oriented
(D) Unlearning is also a learning process
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SET - A

W.Kay (1970) asseted that moral maturity
involves :
(A) Altruism and rationality
(B) Autonomy and heteronomy
(C) Punishment and obedience
(D) Social and interpersonal

At which age does a child begin to be an
active member of a peer group and tries
to be independent of his parents ?

(A) 4-5yms of age
(B) 5-8yrs of a;ge
(C) 11-12yrs. of age
(D) 15-16 yrs. of age

\ thchofthefollowmgisamalchange

during adolescence ?

(A) Fear and Shame

(B) Adult-like-behaviour '/
(C) Restlessness * " L
(D) Imagination

When a test measures an individual's
ability consistently-and accurately, then
that. quality of. test is known as

(A) 6Que! 4 (A) Validity
\@, dgamaei (B) Reliability
(C) eghes (C) Objectivity
(D) w@IEREe (D) Focus centered
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SET - A
11. 6RE0 NSNS 1@ 9RI8 Q6% ? 11. Which is not a type of curriculum ?
(A) @qREQ (A) Child centered
(B) z8ire Gae (B) Experience
(C) zEe S8 1 (C) Regional
NS 7
(D) o eRGe (D) Activity centered
12. SQUIE 96F QNIGE BAI QI QNIGE | 12. Which statistical method is useful when
6QI08S ANAEH 60 TRA IR 7O g distribution of scores is normal or near to
RACAIGT BET 7 normal ?
@) fee IS (A) Standard deviation
_ \‘(ﬂ_gqméo QAN 9 (B) Normal probability curve
O vewd Id B 1 (C) Average deviation
(D) Qe (D) Median
13. 999 sPcaIR 2O AU6R, 6MNEe Ja 8 | 13. What will be the shape of a graph
gRe 9a4] e 280 6Redge Tive S0l between intellectual development and
6ee ? chronological age from  birth to
: adolescence ?
. A) J-
M o4 (A) - shaped
(B) S-2IRBa (B) S - shaped
(C) eQIeq! (C) Zigzag .
(D) 2608 904 2IQSa (D) Hyperbola shaped
14. Q6PAA6R 624G 90 VI FA9R6A M1 &R | 14. Which scale is widely used in surveys
Ig 64 AITN MR SRITIN 7 when data are classified by groups or
subgroups ?
(A) @wgde (A) Ordinal
®) wae o (B) Nominal
Ml@ (C) Interval
(D) zgake (D) Ratio
OTET/P-11 (5)
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seT -(A]

An empowering school will promote
which of the following qualities the most
in its teachers ?

(A) Competitive aptitude
(B) Tendency to experiment
(C) Memory

(D)‘ Dllklplmal nature

Which of the following is not a
developmental task of adolescents
according to Havighurst ?

(A) Accepting one's physique.

(B) Developing socially acceptable
behaviour.

(C) Preparing for marriage and family
life.

(D) Learning sex differences. -

Who said, “Yoga is the identification of
self with divinity” ?

(A) Rabindranath Tagore

(B) Mahatma Gandhi

(C) Sri Aurobinda

(D) Patanjali

Teachers of gifted children need some
particular qualities. They must :

(A) Be intellectually curious

(B) Do not have variety of interests

(€)  Not willing to accept unusual and
diverse questions

(D) Not to be systematic
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SET - A

According to RTE - 2009, how should
children with special needs study ?

(A) In special school established
exclusively for them.

At home with their parents and
caretakers providing necessary
support.

In inclusive education setups with
provisions to cater to their
individual needs.

In vocational training centers
which would prepare them for life

(B)

(©

(D)

Backward, dull and retarded children are
generally to have an IQ between

(A)
()
(©
it

60 - 70
70-90
90 - 100
100 - 120

Which steps could be taken to give
emphasis from teaching to learning ?
(A) Focusing on examination results
(B)  Adopting child centered pedagogy
(€) Encouraging rote learning

(D) Adopting teacher centered teaching

Whnch xs nol a component of core
curriculum ?

(A) /Duty towards constitution

{B) o080 asp & oonel uae (B) ‘Study of foreign culture and
tradition ;

(C) 0G6oea gaa (C) Protection of eﬂvxronment

(D) 6RRIER ACRINIQ (D) _Scientific temper” /1
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seT -(A)

Which is not a projected teaching aid ?
(A) Slide projector
(B) Blackboard
(C) Overhead projector
(D) Epidoscope

345125
How can the internal consistency be

measured ?
(A) Anecdotal Record method
(B) Test - retest method

(<
(D)

Split - half method
None of the above

Which of the following is a characteristics
of a learning disabled child ?

(A) Misreads number ('6’ as ‘Y, ‘3’ as
‘8’)

(B) Reverses letter ('b" as ‘d’, ‘P as’q)

(C) Add letters ('want’ as ‘what’, ‘what’

as ‘whart’)
(D) All of the above

Emotion is originated through

Habits
(B) Instincts
(€) Physical development

(D) Formation of concepts

(A)
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SET -(A]

“Growth is the multiplication of cells, as
growth in height and weight, while
development refers to the change in
organism as a whole.” Who said this ?
(A) E.B. Hurlock

(B) Frank

(C) Crow and Crow

(D) Aliport

Which of the following is not a principle

of constructivist learning ?

(A) learners construct knowledge for
themselves

(B) learning is a constructivist process

(C) learning is a social activity

(D) the teacher tries to arrive at a
solution of the problem in a
~‘assroom

At adolescence, the head of the child is
about :

1
(A) Ith of the body

1
(B) Eth of the body

1
©) gth of the body

1
(D) ;th of the body

30. Signal learning is commonly termed as :

(A) Operant conditioning
(B) Classical conditioning
(€) Chain learning

(D) Verbal associate learning

e s b —
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55.

56.

57.

66 feuas g0wen afie FIG NIEN
aqe ?

(A) g:ee oaae

(B) 6AICEMAG ANAR

(C) enga aeNsa

\@/mam aQIea

‘cdlge’ aca geb geva @' 7

A 94 +a

B 9q+@

(C) edlg + @

(D) edlq + B

ced 290 ange G10498e 96 ggey gee ?

@) Ag6e Geniee adeeiq 9ae
FuIeHE |

(B) <g6e RIS 9909 QRIe Faaad |

(C) <26e Q0P8 AP0 QIR 9o Qg
90 cRIRE )

(D) <g6a a9IRe a8 daenee Ba6e
IR GO AR QAUAIRT |
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58. ‘30109'a S001018 NG 698 ' ?

€ @@

(D) 999

59. NIOQ QORe A8y '€ 7

(A) |0F 6 QeeQ adsd

(B) waIGe 6NlEe 2IAR

CE_ L

(D) HNRE BIFQ 28R

60. ‘90100’ G06n SdigRe QIee o'd 7

JA)L_999d aeae

(B) ®UYS NICRE WRA 2NS
(€ adoge gae

(D) BQASNING!
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61. Some of the crockery broken. 66. | visited him Christmas day.
(A) has been (A) on
AB)—tmave been @) in
(C) were
(D) have €) at
(D) - upon
62. Which of the following activities comes
ﬁ:t wgd?dt'eacl:'ng ahirl?em:“ : 67. She said, "My father died a year ago.”
(). Phacing S w - e The above sentence can be reported as :
group paras. '
(B) Planning some activities for the (A) e said that her fathar had disd a
learners to introduce the topic. yeuc hefors.
(C) Silent reading by the learners. (B) She said that her father died a year
(D) Asking questions for helping before.
comprehension. (C) She said that her father died a year
ago.
63. One who loves and ‘works for his (D) She said that her father has died a
fellowmen is called a/an - - __ year before.
(A) optimist :
(B) fatalist ‘ =
L (C)_—smisanthropist 68. The objective of note-taking is to develop
(D) philanthropist
(A) reading and writing
64. Intonation is learnt through (B) listening and writing
(A) reading (C) listening and speaking
(B) IJistening (D) writing and speaking
(C) writing
(D) speaking
) 69. Verbal test can assess the ability of
65. While we _______ our dinner, the light —_— i
went out, JAV listening
(A) have . (B) speaking
(B) are having (©) writing
(C) had .
(D) were having (D) listening and speaking W=
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70.

71.

72.

73.

His behaviour on that occasion was quite
(A) unappropriate

(B) inappropriate

(C) misappropriate

(D) nappropriately

State which of the following is
grammatically acceptable,

(A) O Hamlet, speak no more!

(B) O Hamlet! speak no more!

(C) O Hamlet speak no more.

(D) O Hamlet, speak no more.

People say that Govind was a great

doctor. The passive form of the above

sentence is :

(A) It is said that Govind was a great
doctor,

(B) It was said that Govind was a great
doctor.

(C) It was said that Govind had been a
great doctor.

(D) It is said that Govind is a great
doctor.

Using intonation is necessary both for

(A) speaking and writing
(B) speaking and listening
(C) speaking and reading
(D) listening and writing

74.

75.

76.

78.

79.

Lalita kept hor coat on,

warm n the room

(A)
(1)
(€)
(1)

Since
although
ye!

stll
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1"

Qu‘\_‘(i‘,ns on (‘t."][’fl'h""'ﬂh)" tost ‘h!‘

learner’s ability of

(A)
(B)
(©
(D)

understanding
vocabulary
speaking
writing

Students explore the meaning and
information about a lesson

(A)

(B)
(©

(D) after extensive reading

during silent reading
after silent reading
before silent reading

Spacing is necessary for .

(A)
(B)
(©
(D)

reading
writing
speaking
listening

Dictation tests the skill of

(A)
(B)
©
(D)

listening

listening and speaking
listening and writing
speaking and writing

He is suffering from

(A)
(B)

(©
(D)

the headache
headache

a headache
an headache
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80.  What type of questions promote thinking
skills in children ?

wpen-vndc\l questions

(B) Close-ended questions
(C)  Factual questions

(D) Questions based purely on the
reading text

Read the passage below and answer the
questions (Q. No. 81 - 85) choosing the correct
alternatives given.

At this time also Gandhi became more
interested in religions. When friends asked him
to help them in their understanding of the
Bhagabad Gita, he began to see how beautiful
it was. Before long it became for him the one
book for the best knowledge of truth. Someone
gave him a Bible and in it he found some
teachings of Jesus which he liked very much
because they were so like certain ideas in the
Gita. Then from a reading of a book by the
English writer Carlyle, he learned about the
Prophet Mahammed and about his greatness
and bravery and simple living. At this time he
was beginning to learn that the truth he loved
was not to be found in any one religion only.

81. Gandhi liked very much the teachings of
Jesus as 3
(A) they resembled certain ideas in the
Gita

82.

83.

54.

85.

Page |17
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Which book for Gandhi was the one book
for the best knowledge of truth ?

(A) The Bhagabad Gita

(B) The Bible

(C) The Quran

(D) The Bhagabad and Quran
Thomas C_ariyle was _____ author,
(A) a German

(B) a French

(C) an English

(D) an American

Gandhi began to see the beauty of the
Bhagabad Gita .

(A) when he became more interested in
religion

(B) when his friends requested him to
help them in understanding it

(C) when his friends gave it to him to
read with interest

(D) when he began to find the teachings
of Jesus in it

The phrase ‘before long’ means ______.

(B) they taught him to live bravely (A) certainly
(C) they helped him understand the (B) slowly
Gita
o later
(D) they taught him the lesson in simple © h
living (D) soon
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Read the following poem and answer the
questions (Q. No. 86 - 90) choosing the correct

alternatives given.

87.

The storm camee on betore the e

She wandered up and down,

And many o hll did Lucy climby;

But never reached the town,

The wretched parents all that night
Went shouting far and wide;

But there was neither sound nor sight
To serve them for a guide.

That day-break on a hill, they stood
That overlooked the moor;

And thence they saw the bridge of wood,
A furlong from their door.

They wept and turning homeward, cried,
[n heaven we all shall meet,

When in the snow the mother spied

The print of Lucy’s feet.

Who did not reach the town ?

(A) The poet

(B) The parents
(C) Lucy

(D) The storm

The parents were looking for
(A) a guide

(B) the bridge

(C) their daughter

(D) the moor

Lotest Sarkon Jobsa,

Vacaneios and update

B,

89.

90.

Exfim Rosiulls
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The ‘wretched” means
(A) old amd weak
(B)  angry

(C) contented

(D) feeling unhappy

What did the parents see from the hill ?
(A) A field

(B) A wooden bridge

(C) Their door

(D) The moor

Why did they weep ?

(A) Because they could not arrive home
(B) Because they were lost in the storm
(C) Because they could not find Lucy

(D) Because they thought they could
Ain




91.

92.

93.

Page |19
A —lﬂ'

986 6 &®i5 / MATHEMATICS & SCIENCE

AL FNen 906n cod d90 0ed
USSAR N0 7

(A) 698 08d

(B) {490 QKSR 69
(C) ugees 0&d

(D) 906018 ANY 089

FeIe arg 6Re% ade dag ovda o8e
Q6 ?

(A) Zrages e QIR

(B) QOIgeR I6e 79 gea ode
(€) =ge afae gar

(D) Q69 A8IAINS A6V LB

9R GYR0 AGUR e SIGGANA 6EUWe

1 200 | GaR 6 gFANS 9091 AN G

3
Gaea 9 20 6.8, ewe0, SERAR 9@
2A0I8Q QLS AUGLE 6AIA *QIW

couuga 699y 6960 7

91.

92.

93.

Which learning method is adopted at
Elementary School Level ?

(A) French Method

(B) Kindergarten Method
(€C) Imitation Method

(D) All the above Methods

Which one of the following is not a
characteristics of Learming Mathematics ?
(A) Provide scope for participation

(B) Take active part spontaneously
(C) Providing stimulus for interest

(D) Neglect the backward students

A triangle is %rd the area of a trapezium.

If the triangle and the trapezium are of

equal height and the base of the triangle
is 20 ¢cm, what is the length of the line
segment that joins the midpoints of the
non-parallel sides of the trapezium ?

(A) 2068 (A) 20 em
(B) 30 6Qf. (B) 30 cm
(C) 356ad. (€) 3Bem
(D) 40 6a.8. (D) 40 cm

aer oidy aid @19 / SPACE FOR ROUGH WORK
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94. The mean proportion between two
numbers is 28 and their third proportion
to them is 224. Find the two numbers,

94. Qe TWHe AU QARG 28 G €914
QAIQAIGT 224 | @aw ¢a Fda @9 |

(A) 14,56 (A) 14,56
(B) 36,7 (B) 56,7
(C) 28,56 (C) 28,56
(D) 14, 34 (D) 14,34

95. edoa F08 daq zqdu g o8¢l o | 95. Which process is involved to identify the
606 9RaS 286 160 7 specific learning difficulties in
Mathematics ?
(A) agae (A) Prognosis
(B) RoRaee (B) Diagnosis
© weer (C) Prediction
(D) qemae (D) Comparison

@ Q1Y Qs IS / SPACE FOR ROUGH WORK
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96.

97.

AABC 69 D, BC 90869 9@ QR 99"
mZABC=mZDAC | 9§ AD=6 6af,
AC=126Qf 8 CD=96f 949, AABCSQ
28Q1I! F4a K |

A

(A) 28 eQf
(B) 32 eQf
(C) 34 6@

(D) 36 6af

630 K99y @d190aR BgYe @4 ?

(A) .69. 266

(B) @.4Q. |

-

(€) @Leage

(D) @meR

Latast Sarkon Jobs, Govl Exam Rosulls,
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In AABC, D is a point on BC and
mZABC=m£DAC. If AD=6 cm,
AC=12 cm and CD=9 cm, find the
perimeter of AABC.

A

(A) 28 cm
(B) 32 cm
(C) 34 com

(D) 36 cm

Who is the Pioneer of Taxonomy of
educational objectives ?

(A) A.J. Harrow
(B) BS. Bloom
(C) Krathwohl

(D) Simpson




98.

99.

100,

1 2
99 x=2+43% +3% @9, ¥-6?+3x @

AR 6960 ?
(A) 8

(B) 6
(€ 4
(D) 2

150% 10" @ gaoes caaee 6eeeid ¢
09 ?

(A) 30
(B) 12
(©) 42
(D) 6

GERIT SR SR GOR QAN (UG GERYR CaIG
QIR 9.9.9. 29 6 QLA AN 290 |
99 9694Q Qe 30 LEUBI QUNA EVINAN,
€06Q QRAN AWIT 6960 7

(A) 75
(B) 95

(C) 145
(D) 135

c2lshe

98.

99.

100.

Page |22

| 2
If x=2+3% +37, then what is the value

of x}—6x2+3x ?
(A) 8
(B) 6
(€ 4
(D) 2

The number of zeroes at the end of the

number obtained on multiplying
15 %101 is :

(A) 30
(B) 12
C) 42
in A&

From among three numbers greater than
30, each pair has the HCF 29 and their
sum is 29%0. What is the largest number ?

75
95

(A)
(B)
(©)
(D)

145
135

Carkon Jobs, Govt Exam Rosults,
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101,

102.

PORD PRI 60466 SEeG AFE aue Siven
QO NN NNEQ 7o 7

(A) FBNINS TEQ URIEE MWD e
uIAE 9o |

(B) S8} eda daEneg ae-wden

Qe I ARG BRAT QR |

(C) T80 K060 SNIe IF YL OIS 998

QMR FSEIR |

(D) 6918Q QEQ 6gaIa 81NN QI6A
TR age daidivuee gae S0

Ga1G |

2 6,000 @ €08 QIR 98 QOG0 caISe
Q19Q @fe 12% gy 060 3 od 9IF K69
co60 6060 Qu e, aR aIeg MIER 16%
QU 91060 4 9d 6 I OIS QRS 696R 6AGR
Qu fde |

(A) 3,500, T 2,500
(B) 3,750, T 2,250
(C) T 4,000, T 2,000

(D) T 4,250, T 1,750

101.

102.
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Which one of the following is associated
with the enrichment programme in
Mathematics ?

{A) Students are allowed to work at

their own pace.

(B) Different category of students are

allowed to work with Co-operation,

No seriousness is required for
acquiring depth knowledge on

()

content matter.

Intellectually inferior students are
always dominated by intellectually
superior students,

(D)

Divide ¥ 6,000 into two parts, such that
interest on first part at 12% rate of interest
for 3 yrs. will be equal with the interest
received on second part at 16% rate of
interest for 4 yrs, 6 months.

(A) 3,500, T 2,500
(B) T 3,750, % 2,250
(C) T 4,000, X 2,000

(D) ¥4,250,T 1,750

ocr oy aid @19 / SPACE FOR ROUGH WORK
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103,

104.

GREW,

J85=2915, 85=9.2915

J0.00085 = ?
(A) 0.0921
(B) 0.00291
(C) 2.0915

(D) 0.02915

0% 6Q1TN eI SO 94 T150 01 P
15% Geibea Q9 Q@ T 7.50 QN0 @
@8 N84 G238 €06 GISR 20% AN 49 |
YIeE QN 8 ea |

103.

104.

Page |24
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If J85=2915 and JB5=92915, g,

|

JO.00085 = ?

(A) 0.0921

(B) 0.00291

(€) 2.0915

(D) 0.02915

If a shopkeeper sells a bat marked ¥ 150
at 15% discount and gives a ball costing
T 750 free with each bat, then he makes
a profit of 20%. His cost price per bat
will be :

(A) T90 (A) T90
(B) T 100 (B) T 100
(€ T110 (€) T110
(D) T 120 D) 2120
o D Y ey ———— —_
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105. O $Q6Q DH: HG=3:1,EG: GF=1:2
DX : XF €@ oq |

D

—

(A) 1:
(B) 1:
<« 1:
(D) 1:

R N

106. €QITY QIRER g9 10 68 200 figaca, v
6 PR 2GS gV 3 : 2 99" AR 99 AGEA
B0 G 998 QAL g% 5:3 | GRa QIgY
ce¢ zgawen figa cra faRee, ]eR
figase 910 6 990 AQAIS 699 11:7 ?

(A) 8:5
(B) 8:7
(€ 5:3
(D) 5:4

Page |25
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105. In the figure shown DH : HG=3 : 1,
EG:GF=1:2, find DX : XF.

D
X
E
G F
(A) 1:1
(B) 1:2
< 1:3
D)y 1:4

106. A mixture of milk and water in the ratio
3 : 2 was taken in a pot and in another
pot, the ratio of mixture of milk to water
was 5 : 3. In what ratio of the mixture
from the two pots be mixed such that the
ratio of milk and water in that resultant
mixture will be 11: 7 ?

(A)
(B)

(©)
(D)

8:5
8:7
9:3
5:4
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107, Seqis flaig VIS e QIR 1 107. Which of the following has the greates
value ?
(A) JB+y22 (A) JB+J2
(B) V1420 B) ST+
(€) JV12+18 (€) J12+J18
(D) J10+y20 (D) Jio+v20
108, 3(3%)=27"+54 66Q, x @ AIR 6960 7 108. If 3(33%) =27 +54, then the value of x is
1 1
(A) 3 (A) 3
(B) 1 (B) 1
2 12
© 13 © 73
(D) 2 (D) 2

109. ¢ 27+¥=32 8 25-¥=4294, 6069 | 109. If 27*¥=32 and 2*"¥=42, then

PrP=_ | iy =
(A) '—_Z ™ 3
(B) % ® 5
© 3 © 3
o & ® 3

acr oidu cuds aio 7 SPACE FOR ROUGH WORK
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110. S)SY0 Aug cog 666 Al FRNARS TR0

111.

112.

TIOAYR BEE ?
(A) @eueh
(B) @ae
(C) gexe

(D) QUeas ang

6066 a8on Qa0 QPe a°qe 6¢ 7

(A) o

(B)
(C) BIRS!

geyede

(D) <dame

49 QU7 ORNRN 288Y 6 HHA ERIE AYEA
QIEiQy 60°, 6069 29 YRGS DIV
6960 ?

(A) 3
(B) 6
< 7
(D) 8

110.

111.

112,
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For which category of the following the
results of evaluation is necessary ?

(A) Student
(B)

(C) Administrator

Teacher

(D) All of the above

Which one does not link with the nature
of Mathematics ?

(A) Logical
(B) Systematic
(C) Exactness

(D) Descriptive

The difference between the interior and
exterior angles of a regular polygon is 60°.
Then, how many sides are there in that
polygon ?

(A) 5

(B) 6

€ 7

(D) 8
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113. 9@ et anaug §6n 2494 2°ac0 399

114.

115.

W0 99 Al ANIRER RONIE CEIY 69N
8T QUi 7

(A) zicoIe

(B) aeesoue

(C) Tegua

(D) Q6gse

TR AUQ 6260 BIN TCOR ORI KN MIRE!
Q6% 7
(A) @migh QRa coia Fen B1R Adia 960 |
(B) Qami@e Qe 9804 Qe d86 Qa9
€RIR2N |

dgigia a9QRRaee F9°, QeNaR,
geqfaIne 219 oae ofca QRae
CRIRRAI |

8181060 29 2AEG AP REF ANRGY
QTGO 6RIQ [P Fell@ cR1Qad |

(©)

(D)

“gdio ¥e SRIR 2RI 2IeAYR dRe FERe
@ea’ | - 89 QRgER ?

(A) 6R16@

(B) @6le9%

(C) comfin 606iq

(D) QiSda

113,

114.

115.
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In which method a Mathematical
Problem is divided into meaningful parts
to derive at solutions ?

(A)
(B) Deductive
(€)
(D)

Inductive

Analysis

Synlhesis

Which of the following is not an example

of Constructivist approach ?

(A) Student actively construct his/her

knowledge.

(B) Learning through social interaction

: and exchange of ideas and values.

(C) Itdoes not develop skills like critical
- thinking, evaluation and creativity.

(D) Construction of knowledge is

possible by addition of new

experience with student’s own
experience.

“Mathematics is the Science which draws
necessary conclusions”. Who said this ?
(A) Locke

(B) Hogben

(C) Benjamin Peirce

(D) Galileo
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116. 98 GQER PQ=PR, RQ=RS g ST|IQR

117.

ZRST @ 06914 f4a 90 |

(A) 64°
(B) 52°
(C) 12°
(D) 76°

2
12 @ gefIAe Seqima 1@ an eqra fda

20, DIFIR A9 8 206 AT 8 699 |

24
(A) 33

35
B 33

18
€ 3

(D) =%
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116. In the given figure, PQ= PR, RQ =RS and
ST|IQR. Find the measures of ZRST.

128" P

Q ——— R

(A) 64
(B) 52°
© 12°

(D) 76°

117. Find a fraction, equivalent to the

2
multiplicative inverse of 1~7- , such that
the difference between the numerator and
the denominator of the fraction is 8.

_25_
32
a5
(B) 1

18
(€ %

(A)

Latast Sarkon Jobs, Govl Exam Rosulls,

Viaeoneos and updotos on ond clhek




118. 4@ aneeIgl §aee I @Ige 6PdY

119.

120.

20 6af <9e* o4 6 BROIRE 0G0 B56
8 6afl 696R, 2ieY QIREa 604 B @9 |

(A) 216Qf
(B) 29 ¢Qf
(C) 25¢6Qd
(D) 16 c@f

¥+a= x+b 6R6R, a=b; 9 6QIY GG
696 Ran 26§ 7

(A) QeeQian
(B)
€ @n
(D) 6898

Q@9n

37 6 /3 @ geue 36 @9 |
(A) %6
(B) 72

(C) 108
(D) @da QLINAGe SIF

118,

119,

120.
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One side of a right triangle measures
20 cm and the difference in lengths of its
hypotenuse and the other side is 8 cm.
Find the length of its unknown side other

than hypotenuse.
(A) 21 cm
(B) 29 cm
(C) 25em
(D)

16 cm

If x +a= x+b implies that a="b; this can
be established by which law of addition ?

(A)
(B)
(©)
(D)

Associative
Distribution
Order

Cancellation

Find the product of 32 and /3.
(A) %
(B) 72

o108
(D) Cannot be determined

(€)
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121. In maximum how many litres of
aquaregia can be prepared from 4.5 litres
of concentrated hydrochloric acid ?

121, 45 Gea Qe PINERIUGR, 186y adiye
660 SIvQ 20019 990 eRIINREe 7

(A) 45 Gee (A) 45 litre
(B) 6.0 diea (B) 6.0 litre
(C) 75 Gea (C) 75 litre
(D) 9.0 Giea (D) 9.0 litre

122. @QIO91 BRAIR 6AINR 696 P01 819188 | 122. The operation blackboard is a part of

e uta ? which National Education Policy ?
(A) e GaIN0 1986 (A) National Education Policy 1986
(B) 1@ a8 2020 (B) National Education Policy 2020
(C) e S0 1968 (C) National Education Policy 1968
(D) <AIRS AUQ 60UE @ g6¥ (D) None of the above

123. 640QIQ 8 69RQAIQ : 43 : : ¥MGAS 6 | 123. Carbohydrate and fat: Energy : : Minerals

RNIAR : . and Vitamins :

age cou geR FEIGe AERNRe 7 Which type of fixed answer question is
it?

(A) GQu eRanee (A) Multiple choice based

(B) QIQANFNR (B) Analogical

(C) 6@ (€) Matching type

(D) caRGER (D) Selection based

L B i ) imee A SRS RS B e e ——— -
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124. giefie Baca Aug caiee @dign Qi
wQIIQaw ?

125.

(A)

(B)

(€)

(D)

glefie 301g QF anes! 6aI9IN0

UREIRR AR DI

69191 90 LEeQIRQq 98] 699!

69191 2°Q8] ANYEe G

ORI? 990 ARG ANAce daeqics S8R
0650 2eAAR 9GaI3 6 1R 81T gREa
ERIGIAN | 6969 FYIR UG X6 IWT
FERINIOR S01a Q6a RIF 7

(A)

(B)

(©)
(D)

8t TRININNNER ANEE

6461 QIRIQ aGddea Faade
adueend

feoa 9IBe QIEe ode

Saatq gee Qe AU
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124. Why was mid-day meal introduced in
primary education ?

(A)

(B)

(€

(D)

To give nutritional support to
primary education

To bring institutional reforms

To emphasize on accountability to
the community

To strengthen community
participation

125. Teachers adopt various means while
teaching Science subjects and it is
accepted by students. Then which of the
following does not develop scientific
temperament ?

(A)

(B)

(©)

(D)

Through experiment of the topic in
Laboratory.

Observation of the topic in the
outside class environment.

Vivid description of the topic.

Observation of the phenomenon
through project.

e gy aid 919 / SPACE FOR ROUGH WORK
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What is the bending movement of stem

i 26.
126. 94 G060 219Q viga cesa o 9994 | 1 towards the sun light called ?
Q'a QRIAN ?
(A) 2989 SNIReds (A) Positive geotropism
(B) 9899 sugesn (B) Negative geotropism
(C) uLQS 2EANGEER (C) Positive phototropism
(D) 96ge aeaRIgeds (D) Negative phototropism
127. ¥Ig P91QR 080 AP0 694 g8aid @°ge | 127. Which of the following processes is not
q6¢ ? associated with metallurgy ?
(A) Q& eqecar (A) Froth floatation
(B) <iB6waR (B) Catenation
(©€) @uNEerar (C) Calcination
(D) QA QASIRRE (D) Magnetic separation
128. 696 @80 6adq AnE1e Q6¢ ? 128. Which statement is not applicable for cell
membrane ?
(A) 6QER19a 6 88 UINed (A) Envelope of protoplasm and
nucleus
(B) 6RIEGHQ 909a 0Ig JaR K68 (B) Separates cells from one another
(C) g8ae 6 6goa Y&l abe (C) Composed of proteins and
carbohydrates
(D) 8949 (D) Porous
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129. Gq60 SmInIeae 6AIe NG 690 2] AR

130,

ewled gbta o AIF 7
(A) enl

(B) Teaq

(C) sefian

(D) zgee

QSN 50 cm 619 9001 589 9@ A9
695aQ (Fig. a) 999 28 QIF 600 LINGN
QAo 99 QeI 9nfe KI196a QLeue
@AUAINE | (Fig. b) | QEUEA A6AILAY
Fig. c 68 98¢ eRuQIed | 9@ @6€RI9ee
ANGRY ERRY AIGIR A6 699 7

129.
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Which of the following does not react
with acid 7

(A) Copper

(B) Nickel

(C) Chromium

(D) Oxygen

A convex lens (Fig. a) has a focal length
50 em. It is cut into two symmetrical
halves by a plane containing the principal
axis (Fig. b). The two pieces are
re-combined as shown in Fig. ¢. The
power of the new combination is :

Fig.a Fig. b Fig. ¢ Fig.a Fig.b Fig. c
(A) 05D (A) 05D
(B) 025D (B) 025D
(©) 1D € 1D
(D) ZeroD (D) ZeroD

o QY 9Id Q19 / SPACE FOR ROUGH WORK
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131. UN9 9919 aNAca 604 90QIF eemara 7 | 131. Which event does occur during
inspiration ?
(A) 999 ArACOTN TS (A) Contraction of abdominal muscle
(B) Q9Q ArACOMa gaiea (B) Expansion of abdominal muscles
(€) 2q9q <if Fde (C) Release of air from lungs
(D) 98 9fe ueee 219 (D) Reduction in size of chest cavity

132, 25 m? 21997 S99 9@ 9A6Q 9960 15Pa | 132, A pressure of 15 Pa acts on a plane of

910 OQUT | ANGR RAER VAT QYS! area 2.5 m? The force normal to the
Q06 GE 660 268 7 plane is :

(A) 375N (A) 375N

(B) 6N (B) 6N

() 175N (©) 175N

(D) 125N (D) 125N

133. 696060 gRYEA 691 QU6 2A6RSR 8 ? | 133. Which has eukaryotic cells with

chlorophylls ?
(A) 6ge aeedsl (A) White Blood Corpuscles
(B) giGaaed (B) Tradescantia
(€ <Rg (C) Bacteria
(D) FIRede 8o (D) Blue Green Algae
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134. eod euenend coid 0i8ea AR CBOIER ?

135.

136.

(A)
(B)
(©
(D)

o og
QUees a0l
DR UG
|e 08

FISYE MERISEAINS A6H codd eeniea
¢ a0R AeReR Qed 7

(A) Gmighe oam 889 aade ede!

(B) amehe @il ene

(€) Q8 d8iEhg QAP RS ERIN

gode ede

(D) @mIEdneg 2a6ItE gen e80!

619 Aug 6R6E 21808 R g uIg
B6E ?

(A) Gee

(B) eo&

(C) eaReq
(D) &< anKen

134,

135.

136.
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Which adaptation can help fish to surviv

in water ?
(A) Fixed eyes
(B) Streamlined body
(C) Light skeleton

(D) Sharp teeth

Which of the following is not a right
attitude for the teachers ?

(A) Toencourage the imagination of the
learners.

Taking care of the learners.

(B)

(C) Treating all the learners equally.

(D) Comparing the learners as per their

abilities.

Out of the following which is an alloy of
Mercury ?

(A) Brass
(B)
(C) Solder

Bronze

(D) Zinc amalgam

o @Iy 219 IR / SPACE FOR ROUGH WORK
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137. SRG6R REYIR QUG 608 IS coiaRag 7

(A) g Fase
(B)
(€

e OGoes
2o8S P9 QIR

(D) 6Q 9% eniee

137.
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Which work is not done by transpiration
in plants ?

(A)
(B)
(©
(D)

Temperature regulation
Maovement of water
Evaporation of excess water

Excretion of minerals

138. AITQ G QEN0 NUER 401 GG 138. Asteroids between Mars and Jupiter :
(A) PGP QR06e Qb (A) revolve round Mars
(B) Qe I0ee 908 (B) revolve round Jupiter
(C) 9GNS 8 VW0 IN6E 98 (C) revolve round both Mars and
Jupiter
(D) Qdi 9Baes 996 (D) revolve round the Sun
. 37/ 60
139. 96 6@16d @9 Aa6a ANAGAIE §8a | 139, If three forces equal in 1., ing
5R6aI 99 QIdi @8 eMad o aRE o, on a body produce no result, then the
606R 6O6PIOT QRT OF FRIER ERNE 6REE angle between any two forces is :
699 ?
(A) 0 (A) 0
(B) 30° (B) 30
() 60° (C) 60°
(D) 120° (D) 120°
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140,

141.

142.

VUANA BYR MUNEE 696 GIST UASY
S6Ra10 990 @6a 7

(A) o9
(B)
(©)

43ENIPa
deeenmg

(D) <usgdaq

FeqIe 088 fug cedd 84l caIPRIe a8d
Q6@ ?

(A)
(B)
(©)

(D)

giede adea
RUYAR!
Qe

euaR

adicesa 0ed daIe 819660 6RER 880
cRaR ?

(A) 609y odq
(B)
(€)

(D)

QNGO ZIERAR
dee

aead

140,

141.

142,
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Which microbe does convert alcohol to
vinegar by aerobic fermentation ?

(A) Yeast
(B) Acetobacter
(C) Pseudomonas

(D)

Lactobacillus

Which of the following is not a step of
lesson plan ?

(A)
(B)
(€) Summary

Introduction

Presentation

(D) Evaluation

Which is teacher based in the observation
method of Science teaching ?

(A) Description of objectives
(B) Group discussion

(C) Conclusion

(D) Experimentation
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143. 649 Q199 Q' @ Faa w49 RIQ 143

WOIEN ? - 98 ggd cod geea 7

(A) RIS BRISS
(B) <F awbe
(C) QCEAIT BIGe

(D) <@o amde
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“Who gave the principle of white dwarf

stars ?” what kind of question is this ?
(A) Knowledge based

(B) Understanding based

(C) Application based

(D) Skilled based

144. CRAIT A6l 604l 63T ge gee ? 144. Which statement is not applicable for

(A) ziegadeq o0e Q8

(B) Q@I 8 AIEGABA ANEQ IYER T

(C) qIenae 6 colea 1gea T

(D) <aIIs G RAYS

black soil ?
(A) Originated from igneous rock.

(B) Excess iron and magnesium salts in
it.

(C) Excess manganese and iron salts in
it.

(D) Suitable for cotton cultivation.
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145.

146,

CRINIE- 196 QRN AR PR AIRIFEN o
@ ARNINR QO 68 7

(A) QIG§
(B) nés8

€ 9l

(D) QSR

ZIEAINEYEE APIONY Q10 8AQ IR AW
GRER! | IRIDTIER GIRG ERYER | 6aLR 0
CRRNS 2IEAIQ JAK B ARG OIS DIEAISR
Q60 | AARO EREOIT 8N UINAIQ FNTTIER
cRUER | OB6aB6e AN e 6968 |
G2ER 696 gOR SEIGR TR0 7

(A) Qdieess

(B) SUISNIRARR
(C) gedeaee

(D) geséde

145. Which

146.
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the
transmission of COVID-19 1o take the

Carrier was cause of

shape of pandemic ?

(A) Bat
(B) Man
.
(C) Air
(D) Pangolin
On teaching photosynthesis, the teacher

gave its definition. He wrote it on the
blackboard. Discussed the light reaction
and dark reaction involved init. He wrote
the related main ideas of it on the
blackboard. At last, he gave the
homework to the students. Which type
of education is based on it ?

(A) Observation

(B) Descriptive
(C) Exhibition based

(D) Project based |

Latast Sarkon Jobs, Govl Exam Rosulls,

Viaeoneos and updotos on ond clhek




147. 29601979 Q sease) EREQ0R ague

148.

SRITN | S fug cede oen 99a
49099 Qe 9eIeE 7

(A) XX
(B) YY
€) X&X

(D) X&Y

6OH QEREQ AR TRERIT SISIARY GOINR ?

(AX) 17p, 17¢, 18n
(B) 15e, 16p, 17n
(C) 19e, 20n, 17p

(D) 9p, 10n, 10e

Page |41
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147. A group of cells were observed after
reduction division. Which of the
following does indicate the gametes of its
male parental generation ?

(A) XX
(B) YY
(C) X&X

(D) X&Y

148. Which electronic configuration indicates
a cation ?

(A) 17p, 17¢, 18n

(B) 15e, 16p, 17n

(C) 19e,20n, 17p

(D) 9p, 10m, 10e
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149. OQISE 089 @BIORER caIRgRwe O
N g&ia |

(A)

(B)

©

(D)

QISV GORER —  ANAY Q:Qﬂgﬂ
- TEAIR — QLIRS — 81 |

d9I18 — QDAY ROV — QANA
RUBSH — OENIY —» CIRGAE! |

QNS RERVDF — VAR — ARIS —
OBIEAE — AAAYN LRAIN |

QY LPATA — RAVIAF —
2QIBITRIAI — UFAIR — TS |

150. 010 AALFe ¢6een BIiitan e
@0IAN | QDG -

(A) 2IGAGAA @@ R uIg

(B)

YFFINE BP6RR 96 ByS JaS 2

(€C) QYARAAR PING IMAIRS 01 By

(D) 2Rftan godwew 6ide zee
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149. Indicate the correct order of steps in

150.

experiment process education.

(A)

(B)

(€)

(D)

Problem
Understanding the problem —
Assumption — Experimentation —

presentation s

Inference.

Inference ~» Presentation of
problem — Understanding the
problem -» Assumption -

Experimentation.

Problem presentation -
Assumption - Inference —
Experimentation — Understanding
the problem.

Understanding the problem —
Presentation —» Experimentation —
" n = Inference.

In thermochemical welding aluminium is
used because :

(A)
(B)

(©

(D)

Aluminium is a light metal.
Aluminium has more affinity for
oxygen.

Aluminium is a stronger oxidising
agent than others.

Aluminium is a reactive metal.
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L Q9%< 6io 7 SOCIAL STUDIES

1. 60% AIPS QGO0 Qeag
ads ? b S6que e 91. Which standardised method is related to

analysis of evaluation ?

(A) EQIE
(A) Planning
(B) 990 oGe! ‘
(B) Preparation
(C) 699 QN

(C) Trying

ywae .
(D) Evaluation

92. QWS AOVIA FAINPA BGAEYS q6d 7 92. Which is not included in history teaching ?
(A) TOIE ASAIQ YO8 @G (A) Recalling the past events
(B) OO ACHINNQ HPVIEQ AINNR A5 (B) Determining the future from the
past events
(C) O USAINNIY ARG AIRSF KB (C) Determining the present from the
past events
(D) 2910 acEl 8o P00 5aQ Suey o8R! (D) Analysing the picture relating to the
past events

93. EAIGE SIGR FINER BEAIA QIRHIRT codoica | 93. Where was the capital of Odisha situated

26030 2! ? during the Mughal rule ?
(A) e (A) Bhadrakh

(B) 96040 (B) Jaleswar

© (€) Cuttack
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94. 6ONT SIUCIGIR AN GEV ? 94.

(A) PR A5

(B) Qraeg geico QG
(C) ORNe gRIGe G
(D) caEiQiEl asl oG

95. 6% WAIYINT afeQ daIvee K69eY | 95.

é‘%oa FA6Q QUIRESE 910 QRIDIY

RIF ?

(A) Taaege geed

(B) arqde 0w

(C) amicha NLAFS AI9ERS!
DL-Aeiee ange 36

96, QUM ZIRR G 69N AP MRICE I'Qd ceex | 96.

Q'8 R4
(A) 69 AR COONN Q6P
(B) QI FIRR LRGN Q62

\SC)/qusméa A9 EQIPIAN

(D) <QREAR ANE BNM 9

97. @ddae daoe 08d afe ceae ande | 97.
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Which is not the function of the pressyg,.

group ?

(A)
(B)
(©
(D)

To contest election
To influence the M.Ps
To influence the public opinion

To protect the group interest

Which is not considered generally for
formulation of objective in teaching
history ?

(A)
(B)
(©)

(D)

Type of the subject matter
Cultural heritage
Psychological needs of learners
Social status of parents

What happens when there is a clash
between the State and Union Law ?

(A)

(B)
©

(D)

The Union Law prevails
The State Law prevails

Opinion of the Supreme Court is
called for

Both the Laws become void

Which is not related to activity based

Q6% 7 teaching ?
(A) @such Fee aidved ded (A) Learner learns by doing
(B) @midh ofigh ziIgw gud (B) Learner shows interest in work
(©) @migh odgd awie 9ode eed (C) Learner shows respect to work
\_(D)/aﬂkdl 690 S81Ehe Qidy adweaa (D) Learner observes the teacher’s work
@08 only 194
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98. REVYIG 5RO s o
fagea 7

(A)
(B)

(€) _=egga
(D) odasngg

9% Fdie ang | o8,

99. GREIR ARISGT Q6 39 Beig GYEQ 7 99

(A) wQeee

B) -e9Ipaa soe
2Ha 699

<

(D) @0eeR co@

100. 1789 AQRIE8 TAIANIER €0 Q9O
SequEn 6P 56 7

EQUAIERIN

(A)
(B)
(©)
(D)

101. ¢o9 oidy cdde RKELaIN edeada Q@I
aGeIde g9 9F 7

(A) egengeen BINRI?

(B) asew ZoRGR INNER

(€) aoign a9

(D)

ERIREST

o0 adeo!l

Gaefe aad

101.
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Construction of which temple was
completed by Udyot Kesari ?

(A) Lingaraj
(B) Rajarani
(C) Brahmeswar

(D) Parsurameswar

Who did build the Amaravati fort of
Odisha ?

(A) Kharavela
(B) Chodaganga Dev
(C) Hambira Dev

(D) Kapilendra Dev

100. The French did revolt against which

dynasty in 1789 AD, ?
(A) Romanov

(B) Judor

(C) Hanover

(D) Bourbon

Which activity is not guided by taxonomy
of educational objectives ?

(A) Accuracy in classroom

communication
(B) Evaluation of learnin § experiences
(C) Preparation of curriculum

(D) Development of infrastructure of
schools

(63)
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102. OBQINC QRFNQE! RO ZNUAES! |

"

)

(:‘\)
(B) awa

(C) e¥iign

103. 90 690 604 QRER OAIS CRUAYES ?

A) _o@eBea

(B) QR

(C) eREIRQ

(D) 6990618

104. gROIRT €IAF QnNAce gIe Pae 0aeS
Qo1 '@ 29 ?

(A) eolyai

S

(C) eigeeal

(D) oy

102,

103,

104.
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Where did the traveller Iban Batuta come
from ?
China

(A)

(B) England

(C) Germany
(D) Africa

In which battle was Mukunda Dev
defeated ?

(A) Gohiritikiri

(B) Mandaran
(C) Kondavidu

(D) Devarkonda

What was the designation of the village
accountant during Sultanate ?

(A) Choudhury
(B) Muguaddam
(C) Kanungo
(D) Patwari
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105. 6RNFAN Q69 Foa QuIRe! shiaa

cGael ? 105. When did Belgium declare her
independence ?
(A) 1815 (A) 1815
&1830 (B) 1830
(C) 1838 (C) 1838
(D) 1848 ' (D) 1848

106. Qe fie] P98 @udse 969 aeew | 106. When did the British Government

6069 cIEa QG ? announce about the appointment of the
Simon Commission 7
(A) 1926 (A) 1926
_(B) 1927 (B) 1927
(C) 1928 (C) 1928
(D) 1929 (D) 1929

107. “ag egiel’’ @aos 84 goT oG8R ? 107. Who did found the “Young Italy”
organization ?

(A) o (A) Cavour

(B) (8) Mazzini

©) aGeoed (C) Garibaldi

(D) Gga QAR 98 (D) Victor Emanuel II
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108. Who was the first Governor General of

108. QRIF KGOS gan oRda EeERaI 84
Independent India ?

g0 ?

(A) QIPElIAINIR! (A) Rajgopalachari

(B) @5 QIESR 99 (B) Dr. Rajendra Prasad
_(C) _se-Amesccen (C) Lord Mountbatten
(D) Q€ By (D) Lord Wavel

109. QAAIR GEGRIIN ARG B4 ANAT geal ? 109. Who was the President of the Constituent

Assembly ?
_(A) o 01699 gaw (A) Dr. Rajendra Prasad
(B) QIRERIARIAT (B) Rajgopalachari
(C) cAITRIN 6769] (C) Motilal Neheru
(D) Qi CRENIR T6eR, (D) Sardar Vallabha Bhai Patel

110. 6089 Qe a0 8a1Q1Re 082aqs | 110. Which is not under the preview of Social

Q68 ? Science teaching ?

(A) zryBe arIea 28eRER 0 6RlsaIRe (A) Economic and geographical
aesl conditions of the modern society

(B) 2RER AR 6700 8 uIfie oo (B) Moral and religious values of the

modern society

(C) ueea 6dleena aanal (C) Glorious traditions of the past

(D) QAIFQ ALQINLIQ gR1 adgeld (D) Prospect of recurrence of the social
QaIew - event ‘
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111. ANISL TQI0 SAINR6H 696 0S8 gova

oRee gUR edare 7

(A) Qeda@e

(B) adena
(©)_rierom

(D) oFeae

112. "Spirit of the Law” Q2@ 84 0o@ 08a6a 7

_(A) Aee]y
(B) <929
(C) eeal

(D) <6 Aeq

113. 696 o0 83121 98aI0e §8I9ReR K099

925 ?

(A) oga @R

(B) QuIeE
ﬁ)ﬂ“ cagea agal

(D) 2eWR QKIS P

114. g6odQl 0181 694 68610 RUAR ?
(A) Qan§ee
(B) QORgee
(C) coaRe
(D) wfeca

111.

112.

113.

114.

Page |49

Which method does give direct
experience in teaching Social Science ?

(A) Survey
(B) Excursion
(C) Discussion

(D) Story telling

Who did write the book “Spirit of the
Law” ?

(A) Montesquieu
(B) Voltaire
(C) Rousseau

(D) Karl Marx

Which category of learners is benefited by
remedial teaching ?

(A) Gifted

(B) Normal

(C) Academically backward
(D) Severly mentally retarded

What type of evaluation is entrance test ?
(A) Summative
(B) Formative

(C) Diagnostic

_ (D) Placement
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115. 60d% dovde acaigies gROGe 89

116.

117.

6% 7

(A) 9597

(B) @xiGid

© @8
(D)—Ig %R

609 99 aifzicnece 2Ige oAl aig
QAYASS 2FA-A'QRT VISR ERARAN 7

(A) 66T QIRe A 0FER IR

(B)

Maﬁ QA A1 08eee 89,

(D) Q'ge oFeR Jaa andie 8
G681 QBaBAIR QARG J6Q SIRGIa AR |
9o o oo comge 7 |

(A) UPERE geIe §91Q

(B) weo1R §F0SAIRS UBASI

(C) Sg° QNQ QAR
(D) @OReQaRIea 2RO

115,

116.
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Which is not an archaeological source of
historical events ?

(A) Monumental Pillar

(B) Rock Inscription

(C) Scriptures

(D) Metal plates

Which Bill needs prior sanction of the
President for its introduction in

Parliament ?

Bill to change the boundary of a
state

(A)

(B)

(©)

Money Bill
Billtochangethenafneofas&te

(D) Bill on a subject in the Concurrent

hat

* Whywere the foreign capitalists attracted

towards Indian industry before Indian
independence ?

(A)
(B)

Spread of political influence

Incompetence of Indian

industrialists
Prospect of huge profit
Necessity of Colonialism

©
(D)
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118. 69460 2E6RBR QIR B6e 7 118. Which is an economic right ?
(A) <@ofee ayew (A) Right to property
(B) <8 <Ga ayee (B) Right to contract
(€) g8 ame ayew (C) Right to employment
(D) daIee Byeia (D) Right to education

119. Q9968 ""2INFe QI8 40QI 6esiAIER | 119. Who did introduce system of “Rule of

gosie odgea 7 Law” in India ?
(A) feeel (A) Marathas
(B) crIeR () Mughals
_(C) &P« : (C) British
(D) ol (D) French

120. QIQSIG QRIS SYANINP VRIGHS 688 | 120. By the Constitution of which country are
6060 QAR Qe gaude 7 the emergency provisions of Indian
Constitution influenced ?

(A) QoQI§ IEAGS! (A) US.A.

(B) 'usgﬁcu (B) Australia

(C) s¥iim oy Gole (C) German Weimer Republic
(D), <Rl (D) Canada
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121. 609 291 eaeued coeel ¢iq 9aRqd ?

(A) - Gi6aI0a
(B) SI69Q!
= =(C) S

(D) <998

122. 95 QQIONER 6REE MIGER WY QBIAIK
RUER NPRE 24 ?
(A)6iea
(B) wde s0@
(C) 9Ie5e 19

(D) QeiFaq

123, OMQIOT FReQ 2O8A QI 608 AR
| QdieRIa genes Qi 7

(A) 9gsea
(B) @e.

(C) <Ry geee aggeed

_ (D990 erae g

121,

122,

123.
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Which river valley is important in terms
of coal ?

(A) Damodar
(B) Kaveri
(€) Ganga

(D) Brahmaputra

Which one is used as the principal raw
material for generation of power in
India ?

(A) Coal

(B) Mineral oil

(C) Natural gas

(D) Uranium

Which is the most important human
activity responsible for the continuous '
reduction of wildlife ?

(A) Pollution

(B) Hunting

(C) Introduction of Allien species

(D) Destruction of natural habitat
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124. F6RIS 696 ROIT afaig a8 QI8 o8E ¢

(A) Ll
(B) ecGoaam
(€ Qe

(D) e

125. 284 8 QNI 2UAR A 60F ORST QTR
QT ?

wadwsma

(B) adyeomd

(C) aeoia adsenda

WIQ Q8%

126. GRIR 606 AL 604 FF Q1B AIGE ?

(A) QIeaceal
(B) <G

(C) I6Rge

O ot
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124. Which of the following rivers has its origin
in Odisha ?

(A) Subarnarekha
(B) Baitarani
(C) Brahmani

(D) Mahanadi

125. Which method is most useful in the
learning of latitude and longitude ?

(A) Direct observation
(B) Observation
(C) Indirect observation

(D) Lecture method

126. Tropic of Cancer passes through which
city of Odisha ?

(A) Rourkela
(B) Baripada
(C) Balasore

(D) None of the above
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127. €060 6HONGER 1@ Z'0 Q6V 7 127. Which one is not a part of biosphere 7
(A) 39 a8 (A) Lithosphere
(B) QIo4nee (B) Exosphere
k/
(C) <IEnae (C) Hydrosphere
(D) <QIgnee (D) Atmosphere

128. 2180e G6QIQ ASI6a 6060 9@ FeN AR1a@ | 128. Which is the most important aid used in
QIAG! NS MG §9 7 the teaching of regional geography ?
(A) &9 (A) Globe
yIG‘QIQ (B) Atlas
(C) ep@el (C) Blackboard
(D) o (D) Chart
129. 6OHIE NIRGER QBAIG AP QNS QEF ? 129. Which one is not connected with rainfall
in India ?
(A) Qe ' (A) Cyclone
_(B)—gem QGIRE (B) Anticyclone
I)’
(C) otees (C) Convection
_}ydﬁem Rl ; (D) Orographic obstruction
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130, ::‘?:::‘i 608 9a6R 60506 oo géade 130. Which atmospheric layer does reflt:ctl
radio waves ?
(A) QAe@ age (A) Magnetosphere
(B)  qeodag (B) Stratosphere
: () eemdaq (C) lonosphere
(D) encaifaq (D) Mesosphere

e 5
131 WIS Aag 6060 SEIe 86160 688 Q6o 131. Which one of the following is commonly

SR g9 ? used in geographic teaching ?
A -6Q% (A) Globe

(B)  MI99q 6 6000Q (B)  Maps and diagrams

(C) 481 Oguew (C)  Study tour

(D) 680 0GeNe (D)  Field trip

132, 6OGT 01 QP 906 9@ QBaRF §AQY | 132. Which one is not a depositional feature

p.,(;§ ? associated with river ?
(A) @016Q10I9 (A) River Terrace
(B) e of (B) Flood Plain

() Gewe gf (C) Delta

(D) QG on (D) Natural levee
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133, QOO0 SIUNES DERae O 6ed 0eGd

134.

135.

aes 7

(A) ofedy 08d
(B) odwese 0&d
(C) e O8d

(D) Qgveesa ¢ aledy 0%

0% 67le@ 9 Qa1 0I6e AWl 5 PIER |9
SUR P9, 6669 60 0L A FUS Q6
anNase €99 ?

(A) @.58. 26 e

(B) @.5qeg

(€) 9.114.26989

(D) . 58.52z008

FeI8 g 6ede] 6FaIea ‘ceale o
QRIaNa ?

Ay Seacher o010 aouR

(B) &G%aIQ RI01a aoyie
(C) Q0eeR LI01a aoule

(D) QRIS 01 aeye

133,

134.

135.
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Which method is suitable for teaching
pressure belts of the carth ?

(A) Discussion method

(B) Observation method

(C) Lecture method

Observation cum discussion
method

(D)

If Puri experiences high tide at 5 PM on
any day, when will be the next high tide
experienced there ?

(A) 5 hrs. 26 min, AM
(B) 5hrs. AM

(C) 11 hrs. 26 min. PM

(D) 5 hrs. 52 min. PM

Which of the following is known as
“Hental bana” in Odisha ?

(A) Bhitarakanika National Park
(B) Similipal National Park
(C) Sundarban National Park

(D) Indravati National Park
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136. 6960 0PAIE0 FRCATHR e BE 7

(A) 996 Reg0
(B) Qudien
(C) eanm
(D) 2oy Q9

136.
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Which one is a major source of irrigation
in Odisha ?

(A) Well and Tube well
(B) Tank

(C) Canal

(D) Other sources

Latast Sarkon Jobs, Govl Exam Rosulls,
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137. 99 F5010 QIR 6960 AII] Q&N 7 137. How much does a nautical mile measure ?
(A) 155 Q4. (A) 155 km
(B) 1.65 8.4. (B) 1.65 km
(€) 1.7584. (C) 1.75 km
(D) _1.85 &.@. - . _ (DY 1.85 km
\_/
138. 2980 Q89 60d caAIFT Bane 7 138. Which pair is incorrect in terms of the
location ?
(/_A) ERIIY SMTIA TNANEY - AP (A) Debrigarh Wildlife Sanctuary -
Debagarh 3a
(B) 9039 9fYdIaN TRAIREY - 98X (B) Hadagarh Wildlife Sanctuary -
Bhadrak e
(€) CRITIaR SMGIAN HRRIRAY - P8R (C) Kotagarh Wildlife Sanctuary -
Kandhamal
(D) RaEND SRIYIAN UNANEY - AAAGR (D) Ushakothi Wildlife Sanctuary -
Sambalpur
139. €IQ6Q CREOIER QNG Z6AG 6996€ie | 139. Where is found the largest reserves of
Qo8 7 crude oil in India ?
(A) =z (A) Assam
(B) geaIe (B) Gujarat
(C) q_d 2006 (C) Eastern offshore
(D) _-ada 2aee (D) Western offshore
— — x :
OTET/P-11 (Continued)




140, 598 360 ool a€eae A0 A6 GNAN g

(A)
(B)
(©)
(D)

141. 609 6719 Qo Qdeg Qnde ?

(A) 9a6a9
,(B) @QIQ! 60
(C) eowdal 60a

(D) 2R 679

142. 2646 FQQ B 60600 FUE TIRED COUINAR
910 9RIES QO QRIAN 7

(A) a8e géaé

&

(B) Saege gei®
(C) Saegea geid

(D) Sewiaqe ged

dag

140.

Sls

Qi

gl

141.

142.
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What is called the Molten rock below the
earth’s surface ?

(A) Lava
(B) Sima
(C) Magma

(D) Sial

With which cloud is the thunderstorm
associated ?

(A) Stratus cloud

(B) Cumulus cloud

(C) Cumulonimbus cloud

(D) Cirrus cloud

What are the species of plants and
animals those are extremely rare and may
occur at a few locations called ?

(A) Endemic species

(B) Endangered species
(C) Vulnerable species

(D) Threatened species
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143, 6R6T QA0 Gl QAe 9@ 2'e6 goRee
QoaNg @ea 7

(A) AR
Jg)/seaﬁg

(C) AP geane
(D) AINSQ

144. 9@ AIPTQEER 6REO 0N ARELAE 629, VIR
Q060 P60 R6Q ?

(A) Qg
(B)
(©)
(D)

96896
QNGRS 6RO
QQQIR ]

145. Q699 cmsﬂa@ qée g sod eonq@ @9
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143. Which one represents the earth’s pattern
orapartof it?

(A) Scale
(B)
(€)
(D) Map

Diagram

Map projection

On what does depend the amount of
information to be represented on a map ?

(A)
(B)

(<)
(D)_

144.

Scale

Projection
Conventional signs
All the above

145. Which one of the following pairs of

dg1 gaIw Qa1 IFR, ERIGED 7 islands is separated from.each other by
the Ten degree channel ?
(A e 6 ReRNA - 1 (A) Andaman and Nicobar -/
(B) Rewwa G AR | (B) Nicobar and Sumatra
(C) AILyIa e S E (C) Maldives and Laksludweep
"Dy ‘e s"oml_"" ..... ikl ) Sumatra amd ]ava |
146. Q1069 69H0IER AIGEIEHIE AGRA aedn 146. Where in India do occur temperate
comIaN 7 N ; forests ? 3 g0
(A) QeI ' (A) Eastern ghats
(B) odaae (B) Western ghats
(C) TR (C) Aravali * " T '
JD)/%IQQ (D) Himalayas -

Lotest Sarkar
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147. Feqie qug 6t gIRER AINGE 2899

148.

149.

150.

Q6% 7

(A) @de AIRee
Melm AIRSQ
(€) A8 Meee
(D) e890 AISe

ced qon 60af gerred uaad adwe
QINEN ?

(A) ‘P oeg
_(B)—S' o6@
(©) ‘L oe@
(D) ‘R ¢0Q

79 QIgNERER 6Rd aUAta ARQ AIN] 6
QAnae ANag S66a OGN coMaN ?

(A) 29019
(B) aenamig
(C)_ oA QI
(D) Zees

A

608 PERIEA G AIAER AQOIY 99 &9
ERIRAIN 7

(A) soaQq
(B) |esrRga

/(Q ERNRN
(D) S

~000-

147.

148.

149,

150.
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Which of the following maps does not
come under the category of physical

map ?

(A) Mineral Map

(B) Astronomical Map
(C) Soil Map

(D) Vegetation Map

Which seismic wave does move up to
Gutenburg discontinuity ?

(A)
(B)

(€)
(D)

‘P wave
'S’ wave
‘L’ wave

R' wave

Which gas does show significant variation
from place to place and time to time in
the lower atmosphere ?

(A) Oxygen
(B) Carbon dioxide
(C) Water vapour

(D) Argon

Which city has the longest day in the
month of June ?

(A) Bengaluru

(B) Bhubaneswar
(C) Kolkata

(D) Delhi

~00o0-




